ROUILLARD GUIDE D'INSTALLATION

INSTALLATION GUIDE

MP TABLE

= = o

— -
MP3615 MP4215 MP303015 MP363615
MP3626 MP4226 MP363626 MP424226

MONOPOD TABLE-2021  Printed in Canada

x3
vis 5/16-18 x 3/4"
Screw 5/16-18 x 3/4"

x8
% vis 1/4-20x 5/8"
Screw 1/4-20x 5/8"

b P
25




ROUILLARD

GUIDE D'INSTALLATION
INSTALLATION GUIDE

MP TABLE

Etape / Step 1

77
7,
7,
(\\
Fp
&y

Etape / Step 2

Service a la clientéle: 1 800 661-1411 / Customer service: 1 855 459-1954




